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唐瑭GMAT语法

唐瑭，智课⺴⽹网（SmartStudy）GMAT语法（SC），SAT语法教学权威。国内GMAT语法、SAT

语法⾸首席讲师，教学研究权威，多年来从事英语教学培训及商科思维培训的⼯工作。⼈人⽓气超⾼高
的明星教师。原北京新东⽅方⾸首席英语培训师。现任北京博智教育负责⼈人兼⾸首席讲师。北⼤大附
中外聘⾼高级英语教学顾问。⼊入⾏行⼗十年来，教授GMAT，GRE，SAT,，TOEFL，IELTS，考研英
语，中⾼高考英语等多项语⾔言类和思维类考试课程。他运⽤用融会贯通的教授理念，把英语当成
培养沟通能⼒力和训练逻辑思维能⼒力的⼯工具。在提⾼高学⽣生英语能⼒力的同时提⾼高⾃自⾝身沟通能⼒力和
逻辑思维能⼒力；同时帮助提升学⽣生逻辑思维能⼒力从⽽而降低英语考试的难度，使考⽣生在短期内
获得更⾼高的考试分数。他讲课⻛风趣，幽默，深⼊入简出，深受学⽣生的喜爱。他始终坚信作为地
球上的同⼀一个物种，⼈人类的语⾔言和表达有互通性和相似性。多年来他致⼒力研究借助中⽂文的语
⾔言结构接受英⽂文的学习⽅方法，并编写出版了多本相关学术书籍。毕业于美国科罗拉多⼤大学传
媒学院，2003年加⼊入美国国家传媒协会，对于东⻄西⽅方⽂文化差异和思维习惯差异有较深了解和
研究。
主讲内容：
GMAT语法（SC）, SAT语法
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Lecture One
GMAT的诠释及语法的错误复习⽅方法说明

本节课授课要点
• GMAT的诠释

• 语法的错误复习⽅方法说明

1.GMAT的诠释
• GMAT考试多少分数就够了？

-⺫⽬目标分数：700+

-复习时间：⼀一个⽉月⾄至⼀一个半⽉月

• GMAT700分的具体概念

-Writing: 6

-IR: 8

-Math: 51

-Verbal: 51

2.语法的错误复习⽅方法说明
• Verbal中三种题型的复习策略

-语法 16

-阅读 14

-逻辑 11

GMAT备考资料
Smartstudy“我的个⼈人主⻚页”--下载电⼦子讲义：PDF+E-pub

Smartstudy逐题精讲板块--GMAT逐题精讲
Smartstudy讲座现场板块
Smartpigai--专业外教批改每篇作⽂文
APP（IOS+Android）
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Lecture Two
GMAT语法考题的正确理解

本节课授课要点
• 分析语法结构

• OG中对于题⺫⽬目本⾝身的阐述

1.分析语法结构
• “语法知识”讲解的问题

-⾮非谓语动词

语法不是从外表讲到含义，⽽而是从含义讲到外表，即从意念讲到意念的表达法。
因此，语法所讨论的不是词形及结构形式变化的解说和分析，
却更深⼀一层研究说者的⼼心理，探寻说者⼼心⾥里有什么意念要表达，
以及⽤用什么语法⼯工具把它表达出来。

——林语堂

63-5

A South American bird that forages for winged termites and other small insects while swinging 

upside down from the foliage of tall trees, the graveteiro belongs to the ovenbird family, a group of 

New World tropical birds that includes more than 230 species and that are represented in virtually 

every kind of habitat.

A. graveteiro belongs to the ovenbird family, a group of New World tropical birds that includes 

more than 230 species and that are

B. graveteiro belongs to the ovenbird family, a group of New World tropical birds that includes 

more than 230 species and  is

C. graveteiro belongs to the ovenbird family, a group of New World tropical birds that include 

more than 230 species and  is

D. graveteiro, which belongs to the ovenbird family, a group of New World tropical birds that 

includes more than 230 species and that are

E. graveteiro, which belongs to the ovenbird family, a group of New World tropical birds that 

includes more than 230 species and is

Answer: 
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17-23

For the first time in the modern era, non-Hispanic Whites are officially a minority in California, 

which amounts to a little less than half the population of the state, down from nearly three-

quarters only a decade ago.

A. which amounts to a little less than half the population of the state, down from nearly three-

quarters only a decade ago

B. which amounts to a little less than half the population of the state, down from a decade ago, 

when it was nearly three-quarters

C. and that amounts to a little less than half the population of the state, down from a decade ago, 

when they were nearly three-quarters

D. amounting to a little less than half the population of the state, down from nearly three-quarters 

a decade ago

E. amounting to a little less than half the population of the state, down from what it was a decade 

ago by nearly three-quarters

Answer: 

GMAT从来不考所谓的“语法知识”， ⽽而是沟通和表达能⼒力！

2.OG中对于题⺫⽬目本⾝身的阐述
665-9.0

These questions require you to be familiar with the stylistic conventions and grammatical rules of 

standard written English and to demonstrate your ability to improve incorrect or ineffective 

expressions. 

Sentence correction questions may include English-language idioms, which are standard 

constructions not derived from the most basic rules of grammar and vocabulary, but idioms are 

not intended to measure any specialized knowledge of colloquialisms or regionalisms.
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Lecture Three
GMAT语法考题的正确理解

本节课授课要点
• 表达⽅方式之⼀一：⼀一句话说⼀一件事

• 阅读英⽂文句⼦子的习惯

1.表达⽅方式之⼀一：⼀一句话说⼀一件事
• 事=什么东⻄西+怎么着了
• 是否⼀一句话可以表达两件事？
• ⼀一句话表达两件事的前提条件

2.阅读英⽂文句⼦子的习惯
2-2

Charles Lindbergh, for his attempt at a solo transatlantic flight, was very reluctant to have any 

extra weight on his plane, he therefore refused to carry even a pound of mail, despite being offered 

$1,000 to do so.

A. Charles Lindbergh, for his attempt at a solo transatlantic flight, was very reluctant to have any 

extra weight on his plane, he therefore

B. When Charles Lindbergh was attempting his solo transatlantic flight, being very reluctant to have 

any extra weight on his plane, he

C. Since he was very reluctant to carry any extra weight on his plane when he was attempting his 

solo transatlantic flight, so Charles Lindbergh

D. Being very reluctant to carry any extra weight on his plane when he attempted his solo 

transatlantic flight was the reason that Charles Lindbergh

E. Very reluctant to have any extra weight on his plane when he attempted his solo transatlantic 

flight, Charles Lindbergh

Answer: 

44-19

In Hungary, as in much of Eastern Europe, an overwhelming proportion of women work, many of 

which are in middle management and light industry.
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A. as in much of Eastern Europe, an overwhelming proportion of women work, many of which are 

in

B. as with much of Eastern Europe, an overwhelming proportion of women works, many in

C. as in much of Eastern Europe, an overwhelming proportion of women work, many of them in

D. like much of Eastern Europe, an overwhelming proportion of women works, and many are

E. like much of Eastern Europe, an overwhelming proportion of women work, many are in

Answer: 

17-22

Floating in the waters of the equatorial Pacific, an array of buoys collects and transmits data on 

long-term interactions between the ocean and the atmosphere, interactions that affect global 

climate.

A. atmosphere, interactions that affect

B. atmosphere, with interactions affecting

C. atmosphere that affects

D. atmosphere that is affecting

E. atmosphere as affects

Answer: 

91-3

The state has proposed new rules that would set minimum staffing levels for nurses, rules intended 

to ensure that at least one nurse is assigned for every four patients put through triage in a hospital 

emergency room.

A. rules intended to ensure that at least one nurse is assigned for every four patients put through 

triage in a hospital emergency room

B. rules with the intent of ensuring one nurse at least to be assigned for every four patients to be 

put through triage in a hospital emergency room

C. rules intending to ensure at least one nurse is assigned for every four patients in a hospital 

emergency room put through triage

D. with the intent of ensuring that at least one nurse should be assigned for every four patients in a 

hospital emergency room that are put through triage

E. and this is intended to ensure one nurse at least to be assigned for every four patients put 

through triage in a hospital emergency room

Answer: 

智课⺴⽹网（SmartStudy.com）唐瑭GMAT语法电⼦子讲义

! TOEFL,SAT,IELTS,GRE,GMAT五⼤大出国考试各科⾸首席讲师⻬齐聚智课⺴⽹网（SmartStudy.com）! 18

http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com


24-32

Most of the purported health benefits of tea comes from antioxidants-compounds also found in 

beta carotene, vitamin E, and vitamin C that inhibit the formation of plaque along the body’s blood 

vessels.

A. comes from antioxidants-compounds also found in beta carotene, vitamin E, and vitamin C that

B. comes from antioxidants-compounds that are also found in beta carotene, vitamin E, and vitamin 

C, and they 

C. come from antioxidants-compounds also found in beta carotene, vitamin E, and vitamin C, and

D. come from antioxidants-compounds that are also found in beta carotene, vitamin E, and vitamin 

C and that

E. come from antioxidants-compounds also found in beta carotene, vitamin E, and vitamin C, and 

they

Answer: 

30-41

In 1713, Alexander Pope began his translation of the Iliad, a work that, taking him seven years until 

completion, and that literary critic Samuel Johnson, Pope’s contemporary, pronounced the greatest 

translation in any language. 

A. his translation of the Iliad, a work that, taking him seven years until completion, and that literary 

critic Samuel Johnson, Pope’s contemporary, pronounced

B. his translation of the Iliad, a work that took him seven years to complete and that literary critic 

Samuel Johnson, Pope’s contemporary, pronounced

C. his translation of the Iliad, a work that had taken seven years to complete and that literary critic 

Samuel Johnson, Pope’s contemporary, pronounced it as

D. translating the Iliad, a work that took seven years until completion and that literary critic Samuel 

Johnson, Pope’s contemporary, pronounced it as

E. translating the Iliad, a work that had taken seven years to complete and literary critic Samuel 

Johnson, Pope’s contemporary, pronounced it

Answer: 
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Lecture Four
表达⽅方式之⼆二：精确性/准确性

本节课授课要点
• 什么是精确性

• 什么是准确性

1.什么是精确性
• 英语是⼀一⻔门精确性很强的语⾔言

-感冒药——（治疗）感冒（的）药

-印度的⼈人⼝口已经超过中国——印度的⼈人⼝口已经超过中国（的⼈人⼝口）

32-1

For the last five years the Dutch economy has grown faster than Britain, France, or Germany, with 

the unemployment rate having remained well below that of the other three countries.

A. Britain, France, or Germany, with the unemployment rate having remained

B. have those of Britain, France, or Germany, and the unemployment rate remaining

C. have Britain, France, and Germany, and the unemployment rate has remained

D. the economy of Britain, France, and Germany, with the unemployment rate that has remained

E. the economies of Britain, France, and Germany, and the unemployment rate has remained

Answer: 

This year, the factory made more fuel-efficient cars.

68-13

Today’s technology allows manufacturers to make small cars more fuel-efficient now than at any 

time in their production history.

A. small cars more fuel-efficient now than at any time in their

B. small cars that are more fuel-efficient than they were at any time in their

C. small cars that are more fuel-efficient than those at any other time in

D. more fuel-efficient small cars than those at any other time in their

E. more fuel-efficient small cars now than at any time in

Answer: 
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2.什么是准确性
第⼀一时间出现疑问，必须第⼀一时间解决！
获得了2013年的诺⻉贝尔⽂文学奖，莫⾔言的成就举世瞩⺫⽬目。
获得了2013年的诺⻉贝尔⽂文学奖，莫⾔言是⼀一位中国作家。
获得了2013年的诺⻉贝尔⽂文学奖，这个⼈人，莫⾔言，已经举世瞩⺫⽬目了。

13-16

While digging in the Egyptian desert, huge fossil bones have been found by paleontologists, which 

appears to have been the second most massive dinosaur that ever lived.

A. huge fossil bones have been found by paleontologists, which appears to have been

B. huge fossil bones have been found by paleontologists, which appear to be from

C. it appears that paleontologists have found huge fossil bones that are from

D. paleontologists have found huge fossil bones from what appears to be

E. paleontologists have found huge fossil bones, which are from what appear to be

Answer:

开采矿物的⽅方法
矿物开采的⽅方法
23-31

Leaching, the recovery of copper from the drainage water of mines, as a method of the extraction 

of minerals, it was well established as early as the eighteenth century, but until about 25 years ago 

miners did not realize that bacteria take an active part in the process.

A. as a method of the extraction of minerals, it was well established

B. as a method of the extraction of minerals well established

C. was a well-established method of mineral extraction

D. was a well-established method of extracting mineral that was

E. had been a method of mineral extraction, well established

Answer: 

例题讲解：
83-34

Imported into Massachusetts from Europe in 1869, the gypsy moth was used by a French scientist 

in an attempt at developing a strong strain of silk-producing insects, crossing gypsy moths with 

adult silkworms.
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A. Imported into Massachusetts from Europe in 1869, the gypsy moth was used by a French 

scientist in an attempt at developing a strong strain of silk-producing insects, crossing gypsy moths 

with adult silkworms.

B. Imported into Massachusetts from Europe in 1869, a French scientist was attempting to develop 

a strong strain of silk-producing insects by crossing gypsy moths with adult silkworms.

C. To cross gypsy moths with adult silkworms, in attempting the development of a strong strain of 

silk-producing insects, a French scientist in 1869 imported the gypsy moth into Massachusetts from 

Europe.

D. The gypsy moth was imported into Massachusetts from Europe in 1869 by a French scientist 

attempting to develop a strong strain of silk-producing insects by crossing gypsy moths with adult 

silkworms.

E. In an attempt at the development of a strong strain of silk-producing insects, a French scientist, 

importing the gypsy moth from Europe into Massachusetts in 1869 in order to cross gypsy moths 

and adult silkworms.

Answer: 

15-20

In the mid-1970’s, since birds were overcome by pollution, and routinely falling from the sky above 

Los Angeles freeways, this prompted officials in California to devise a plan that reduced automobile 

emissions.

A. since birds were overcome by pollution, and routinely falling from the sky above Los Angeles 

freeways, this prompted officials in California to devise a plan that reduced

B. since birds that had been overcome by pollution were routinely falling from the sky above Los 

Angeles freeways, it prompted officials in California to devise a plan that would reduce

C. birds had been overcome by pollution and routinely fell from the sky above Los Angeles 

freeways, prompting officials in California to devise a plan that reduced

D. birds overcome by pollution routinely fell from the sky above Los Angeles freeways, prompting 

officials in California to devise a plan to reduce

E. birds overcome by pollution and routinely falling from the sky above Los Angeles freeways were 

prompting officials in California to devise a plan to reduce

Answer: 

28-38
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Imported into Massachusetts from Europe in 1869, the gypsy moth was used by a French scientist 

in an attempt at developing a strong strain of silk-producing insects, crossing gypsy moths with 

adult silkworms.

A. Imported into Massachusetts from Europe in 1869, the gypsy moth was used by a French 

scientist in an attempt at developing a strong strain of silk-producing insects, crossing gypsy moths 

with adult silkworms.

B. Imported into Massachusetts form Europe in 1869, a French scientist was attempting to develop 

a strong strain of silk-producing insects by crossing gypsy moths with adult silkworms.

C. To cross gypsy moths with adult silkworms, in attempting the development of a strong strain of 

silk-producing insects, a French scientist in 1869 imported the gypsy moth into Massachusetts from 

Europe.

D. The gypsy moth was imported into Massachusetts from Europe in 1869 by a French scientist 

attempting to develop a strong strain of silk-producing insects by crossing gypsy moths with adult 

silkworms.

E. In an attempt at the development of a strong strain of silk-producing insects, a French scientist, 

importing the gypsy moth from Europe into Massachusetts in 1869 in order to cross gypsy moths 

and adult silkworms.

Answer: 

29-39

In Japan, a government advisory committee called for the breakup of Nippon Telephone and 

Telegraph Company, the largest telephone company in the world, so it would be two local phone 

companies and one long-distance provider.

A. In Japan, a government advisory committee called for the breakup of Nippon Telephone and 

Telegraph Company, the largest telephone company in the world, so it would be

B. The breakup of the world’s largest telephone company, Nippon Telephone and Telegraph 

Company, was called for by a government advisory committee in Japan, so it would be

C. A government advisory committee in Japan called for the breakup of Nippon Telephone and 

Telegraph Company, the world’s largest telephone company, into

D. The breakup of Nippon Telephone and Telegraph Company, the world’s largest telephone 

company, was called for by a government advisory committee in Japan, so it would be

E. Called for by a government advisory committee, the breakup of Nippon Telephone and Telegraph 

Company in Japan, the world’s largest telephone company, was to be into

Answer: 
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Lecture Five
表达⽅方式之三：简洁性&表达⽅方式之四：逻辑性

本节课授课要点
• 简洁性原则

• 逻辑性的match原则

1.简洁性原则

60-1

Being that she was secretary of labor, Frances Perkins’ considerable influence with Franklin D. 

Roosevelt was used preventing him from restraining strikes by longshoremen and automobile 

workers.

A. Being that she was secretary of labor, Frances Perkins’ considerable influence with Franklin D. 

Roosevelt was used preventing

B. As secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was 

used to prevent

C. Being secretary of labor, Frances Perkins’ considerable influence with Franklin D. Roosevelt was 

used preventing

D. As secretary of labor, Frances Perkins used her considerable influence with Franklin D. Roosevelt 

to prevent

E. Secretary of labor, Frances Perkins’ considerable influence was used with Franklin D. Roosevelt 

preventing

Answer: 

2-2

Charles Lindbergh, for his attempt at a solo transatlantic flight, was very reluctant to have any 

extra weight on his plane, he therefore refused to carry even a pound of mail, despite being offered 

$1,000 to do so.

A. Charles Lindbergh, for his attempt at a solo transatlantic flight, was very reluctant to have any 

extra weight on his plane, he therefore

B. When Charles Lindbergh was attempting his solo transatlantic flight, being very reluctant to have 

any extra weight on his plane, he
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C. Since he was very reluctant to carry any extra weight on his plane when he was attempting his 

solo transatlantic flight, so Charles Lindbergh

D. Being very reluctant to carry any extra weight on his plane when he attempted his solo 

transatlantic flight was the reason that Charles Lindbergh

E. Very reluctant to have any extra weight on his plane when he attempted his solo transatlantic 

flight, Charles Lindbergh

Answer: 

2.逻辑性的match原则
27-37

In ancient Thailand, much of the local artisans’ creative energy was expended for the creation of 

Buddha images and when they constructed and decorated the temples that enshrined them.

A. much of the local artisans’ creative energy was expended for the creation of Buddha images and 

when they constructed and decorated  the temples that enshrined them

B. much of the local artisans’ creative energy was expended on the creation of Buddha images and 

on construction and decoration of the temples in which they were enshrined

C. much of the local artisans’ creative energy was expended on the creation of Buddha images as 

well as constructing and decoration of the temples in which they were enshrined

D. creating images of Buddha accounted for much of the local artisans’ creative energy, and also 

constructing and decorating the temples enshrining them 

E. the creating of Buddha images accounted for much of the local artisans’ creative energy as well 

as construction and decoration of the temples that enshrined them

Answer: 

• ⾸首先考虑意思上的match；如果选项表达意思相同，再考虑形式上的统⼀一

51-29

Antarctica receives more solar radiation than does any other place on Earth, yet the temperatures 

are so cold and the ice cap is reflective, so that little polar ice melts during the summer; 

otherwise, the water levels of the oceans would rise 250 feet and engulf most of the world’s great 

cities.

A. is reflective, so that little polar ice melts during the summer; otherwise,

B. is so reflective that little of the polar ice melts during the summer; were it to do so,

C. so reflective that little polar ice melts during the summer, or else

D. reflective, so that little of the polar ice melts during the summer, or
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E. reflects so that little of the polar ice melts during the summer; if it did

Answer: 

58-40

Scientists who studied the famous gold field known as Serra Pelada concluded that the rich lode 

was not produced by the accepted methods of ore formation but that swarms of microbes over 

millions of years concentrated the gold from jungle soils and rivers and rocks.

A. not produced by the accepted methods of ore formation but that swarms of microbes over 

millions of years

B. not produced by the accepted methods of ore formation but instead swarms of microbes over 

millions of years that

C. not produced by the accepted methods of ore formation but swarms of microbes over millions 

of years that

D. produced not by the accepted methods of ore formation but by swarms of microbes that over 

millions of years

E. produced not by the accepted methods of ore formation but that swarms of microbes over 

millions of years

Answer: 

91-4

Only seven people this century have been killed by the great white shark, the man-eater of the 

movies—less than those killed by bee stings.

A. movies—less than those

B. movies—fewer than have been

C. movies, which is less than those

D. movies, a number lower than the people

E. movies, fewer than the ones

Answer: 

33-3

Unlike human runners, who broke the four-minute mile in 1954 and they consistently recorded 

faster times ever since, horses in classic races such as the Kentucky Derby have had winning times 

with little improvement: Secretariat’s world-record-breaking Derby tine of 1:59 2/5, for example, 

was set in 1973 and remained unsurpassed more than a quarter of a century later.
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A. they consistently recorded faster times ever since, horses in classic races such as the Kentucky 

Derby have had winning times with little improvement

B. they have consistently recorded faster times ever since, those of horses in classic races such as 

the Kentucky Derby have shown little improvement in winning times

C. have consistently recorded faster times ever since, horses in classic races such as the Kentucky 

Derby have shown little improvement in winning times

D. have consistently recorded faster times ever since, in those of classic races such as the Kentucky 

Derby, horses have had winning times with little improvement

E. consistently recorded faster times ever since, those of horses in classic races such as the 

Kentucky Derby have shown little improvement in winning times

Answer: 
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Lecture Six
表达⽅方式的深刻理解—GWD部分试题讲解

本节课授课要点
• 优秀的表达应该具备的特点

• GWD试题解说

1.优秀的表达应该具备的特点

2.GWD试题解说
51-30

Socially and environmentally responsible investing is on the rise:  last year in the United States, over 

$2 trillion was invested in funds that screen companies according to a variety of criteria such as 

adherence to labor standards, protection of the environment, and observance of human rights.

A. according to a variety of criteria such as

B. according to a variety of such criteria, as by

C. according to such a variety of criteria as by

D. in accordance with such a variety of criteria as

E. in accordance with a variety of criteria, such as by  

Answer: 

52-32

Since 1975 so many people have been moving to Utah such that Mormons who were once 75 

percent of the population are now only accounting for half of it.

A. so many people have been moving to Utah such that Mormons who were once 75 percent of 

the population are now only accounting for half of it

B. many people have been moving to Utah, so Mormons once 75 percent of the population are 

now accounting for only half

C. that many people have been moving to Utah, such that the Mormons that were once 75 percent 

of the population are now accounting for only half of it

D. many people have been moving to Utah such that the Mormons, who once represented 75 

percent of the population, now only account for half
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E. so many people have been moving to Utah that the Mormons, who once represented 75 percent 

of the population, now account for only half

Answer: 

53-33

After more than four decades of research and development, a new type of jet engine is being 

tested that could eventually propel aircraft anywhere in the world within two hours or help boost 

cargoes into space at significantly lower costs than current methods permit.

A. tested that could eventually propel aircraft anywhere in the world within two hours or help

B. tested that could eventually have the capability of propelling aircraft anywhere in the world 

within two hours or to help

C. tested, eventually able to propel aircraft anywhere in the world within two hours, or helping

D. tested, and it eventually could propel aircraft anywhere in the world within two hours or helping

E. tested, and it could eventually have the capability to propel aircraft anywhere in the world within 

two hours or help

Answer: 

54-34

Though subject to the same wild-animal control efforts that killed off almost all the wolves in 

North America over the past century, the coyote’s amazing ability of adapting to the presence of 

humans has enabled it to expand its range into Alaska and Central America.

A. coyote’s amazing ability of adapting to the presence of humans has enabled it to expand its

B. coyote, because of its amazing ability of adapting to the presence of humans, have been able to 

expand their

C. coyote, because of its amazing ability to adapt to the presence of humans, has been able to 

expand its

D. amazing ability of the coyote to adapt to the presence of humans have enabled it to expand the

E. amazing ability of the coyote to adapt to the presence of humans has enabled it to expand the

Answer: 

50-28

In an effort to reduce the number of fires started by cigarettes, a major tobacco company is test-

marketing a cigarette in which thin layers of extra paper are used to decrease the amount of 

oxygen entering the cigarette, thereby slowing the rate at which it burns and lowering the heat it 

generates.
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A. in which thin layers of extra paper are used to decrease the amount of oxygen entering the 

cigarette, thereby slowing

B. in which they use thin layers of extra paper in decreasing the amount of oxygen entering the 

cigarette, which slows

C. that uses thin layers of extra paper to decrease the amount of oxygen when it enters the 

cigarette, thereby slowing

D. for which thin layers of extra paper are used to decrease the amount of oxygen that enters the 

cigarette, and thereby slowing

E. using thin layers of extra paper in decreasing the amount of oxygen entering the cigarette, which 

slows

Answer: 

41-14

The single-family house constructed by the Yana, a Native American people who lived in what is 

now northern California, was conical in shape, its framework of poles overlaid with slabs of bark, 

either cedar or pine, and banked with dirt to a height of three to four feet.

A. banked with dirt to a height of 

B. banked with dirt as high as that of

C. banked them with dirt to a height of

D. was banked with dirt as high as

E. was banked with dirt as high as that of

Answer: 

38-10

Marconi’s conception of the radio was as a substitute for the telephone, a tool for private 

conversation; instead, it is precisely the opposite, a tool for communicating with a large, public 

audience.

A. Marconi’s conception of the radio was as a substitute for the telephone, a tool for private 

conversation; instead, it is

B. Marconi conceived of the radio as a substitute for the telephone, a tool for private 

conversation, but which is

C. Marconi conceived of the radio as a tool for private conversation that could substitute for the 

telephone; instead, it has become

D. Marconi conceived of the radio to be a tool for private conversation, a substitute for the 

telephone, which has become
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E. Marconi conceived of the radio to be a substitute for the telephone, a tool for private 

conversation, other than what it is

Answer: 

34-4

Even though more money was removed out of stock funds in July as in any month since October 

1987, sales of fund shares in July were not as low as an industry trade group had previously 

estimated.

A. as in any month since October 1987, sales of fund shares in July were not as low as

B. as had been in any other month since October 1987, sales of fund shares in July were not as low 

as what

C. than there was in any other month since October 1987, sales of fund shares in July were not as 

low as that which

D. than in any month since October 1987, sales of fund shares in July were not as low as

E. than in any other month since October 1987, sales of fund shares in July were not as low as 

what

Answer: 

18-24

For the last five years the Dutch economy has grown faster than Britain, France, or Germany, with 

the unemployment rate having remained well below that of the other three countries.

A. Britain, France, or Germany, with the unemployment rate having remained

B. have those of Britain, France, or Germany, and the unemployment rate remaining

C. have Britain, France, and Germany, and the unemployment rate has remained

D. the economy of Britain, France, and Germany, with the unemployment rate that has remained

E. the economies of Britain, France, and Germany, and the unemployment rate has remained

Answer: 

16-21

Despite the growing number of people who purchase plane tickets online, airline executives are 

convinced that, just as one-third of bank customers still prefer human tellers to automatic teller 

machines, many travelers will still use travel agents.

A. growing number of people who purchase plane tickets online, airline executives are convinced 

that, just as one-third of bank customers still prefer human tellers to automatic teller machines, 

many travelers will
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B. growing number of people who purchase plane tickets online, airline executives are convinced, 

just as one-third of bank customers still prefer human tellers to automatic teller machines, that 

many travelers would

C. growing number of people purchasing plane tickets online, airline executives are convinced, just 

as one-third of bank customers still prefer human tellers as compared to automatic teller 

machines, many travelers will

D. fact that the number of people purchasing plane tickets online is growing, airline executives are 

convinced, just as one-third of bank customers still prefer human tellers as compared to automatic 

teller machines, that many travelers would

E. fact that the number of people who purchase plane tickets online are growing, airline executives 

are convinced that, just as one-third of bank customers still prefer human tellers compared with 

automatic teller machines, many travelers would

Answer:

14-18

Analyzing campaign expenditures, the media has had as a focus the high costs and low ethics of 

campaign finance, but they have generally overlooked the cost of actually administering elections, 

which includes facilities, transport, printing, staffing, and technology.

A. Analyzing campaign expenditures, the media has had as a focus

B. Analyses of campaign expenditures by the media has been focus on

C. In analyzing campaign expenditures, the media have focused on

D. Media analyses of campaign expenditures have had as a focus

E. In their analysis of campaign expenditures, the media has been focusing on

Answer: 

6-8

Sulfur dioxide, a major contributor to acid rain, is an especially serious pollutant because it 

diminishes the respiratory system’s ability to deal with all other pollutants.

A. an especially serious pollutant because it diminishes the respiratory system’s ability to deal

B. an especially serious pollutant because of diminishing the respiratory system’s capability of 

dealing

C. an especially serious pollutant because it diminishes the capability of  the respiratory system in 

dealing

D. a specially serious pollutant because it diminishes the capability of  the respiratory system to 

deal
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E. a specially serious pollutant because of diminishing the respiratory system’s ability to deal

Answer: 

3-3

For protection from the summer sun, the Mojave lived in open-sided, flat-topped dwellings known 

as shades, each a roof of poles and arrowweed supported by posts set in a rectangle.

A. each a roof of poles and arrowweed

B. each a roof of poles and arrowweed that are being

C. with each being a roof of poles and arrowweed

D. with roofs of poles and arrowweed to be

E. with roofs of poles and arrowweed that are

Answer: 

2-1

According to a survey of graduating medical students conducted by the Association of American 

Medical Colleges, minority graduates are nearly four times more likely than are other graduates in 

planning to practice in socioeconomically deprived areas.

A. minority graduates are nearly four times more likely than are other graduates in planning to 

practice

B. minority graduates are nearly four times more likely than other graduates who plan on 

practicing

C. minority graduates are nearly four times as likely as other graduates to plan on practicing

D. it is nearly four times more likely that minority graduates rather than other graduates will plan 

to practice

E. it is nearly four times as likely for minority graduates than other graduates to plan to practice

Answer:

64-7

The Quechuans believed that all things participated in both the material level and the mystical level 

of reality, and many individual Quechuans claimed to have contact with it directly with an ichana 

(dream) experience.

A. contact with it directly with

B. direct contact with it by way of

C. contact with the last directly through

D. direct contact with the latter by means of
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E. contact directly with the mystical level due to

Answer: 

66-10

The single-family house constructed by the Yana, a Native American people who lived in what is 

now northern California, was conical in shape, its framework of poles overlaid with slabs of bark, 

either cedar or pine, and banked with dirt to a height of three to four feet.

A. banked with dirt to a height of 

B. banked with dirt as high as that of

C. banked them with dirt to a height of

D. was banked with dirt as high as

E. was banked with dirt as high as that of

Answer: 

68-15

The commission’s office of compliance, inspections, and investigations plans to intensify its scrutiny 

of stock analysts to investigate not only whether research is an independent function at brokerage 

firms, but also whether conflicts result when analysts own the stocks they write about or when 

they are paid for their work by a firm’s investment banking division.

A. to investigate not only whether research is an independent function at brokerage firms, but also 

whether conflicts result when analysts own the stocks they write about or when they are

B. to investigate not only whether research is an independent function at brokerage firms, but also 

if conflicts result when analysts own the stocks they write about or they are

C. to not only investigate whether or not research is an independent function at brokerage firms, 

but also if conflicts result when analysts own the stocks they write about or are

D. not only to investigate whether or not research is an independent function at brokerage firms, 

but also whether conflicts result when analysts own the stocks they write about or are

E. not only to investigate whether research is an independent function at brokerage firms, but also 

whether conflicts result when analysts own the stocks they write about or when

Answer: 

70-17

Scholars who once thought Native American literatures were solely oral narratives recorded by 

missionaries or anthropologists now understand this body of work to consist of both oral 
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literatures and the written works of Native American authors, who have been publishing since 

1772.

A. Scholars who once thought Native American literatures were solely oral narratives

B. Scholars thinking of Native American literatures once solely as oral narratives, and

C. Scholars who once had thought of Native American literatures solely as oral narratives and

D. Native American literatures, which some scholars once thought were solely oral narratives

E. Native American literatures, which some scholars once, thinking they were solely oral narratives

Answer: 

70-18

Analyzing campaign expenditures, the media has had as a focus the high costs and low ethics of 

campaign finance, but they have generally overlooked the cost of actually administering elections, 

which includes facilities, transport, printing, staffing, and technology.

A. Analyzing campaign expenditures, the media has had as a focus

B. Analyses of campaign expenditures by the media has been focus on

C. In analyzing campaign expenditures, the media have focused on

D, Media analyses of campaign expenditures have had as a focus

E. In their analysis of campaign expenditures, the media has been focusing on

Answer:

82-33

For the first time in the modern era, non-Hispanic Whites are officially a minority in California, 

which amounts to a little less than half the population of the state, down from nearly three-

quarters only a decade ago.

A. which amounts to a little less than half the population of the state, down from nearly three-

quarters only a decade ago

B. which amounts to a little less than half the population of the state, down from a decade ago, 

when it was nearly three-quarters

C. and that amounts to a little less than half the population of the state, down from a decade ago, 

when they were nearly three-quarters

D. amounting to a little less than half the population of the state, down from nearly three-quarters 

a decade ago

E. amounting to a little less than half the population of the state, down from what it was a decade 

ago by nearly three-quarters

Answer: 
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Lecture Seven
阅读句⼦子的能⼒力I

本节课授课要点
• 关于题干中⾮非划线部分的提⽰示

• 挑选选项的思路

1.关于题干中⾮非划线部分的提⽰示
49-26

On Earth, among the surest indications of sunspot cycles are believed to be the rate that trees 

grow, as seen in the rings visible in the cross sections of their trunks.

A. On Earth, among the surest indications of sunspot cycles are believed to be the rate that trees 

grow

B. On Earth, among the surest indications of sunspot cycles are, it is believed, the rate of tree 

growth

C. On Earth, the rate at which trees grow is believed to be among the surest indications of sunspot 

cycles

D. Among the surest indications on Earth of sunspot cycles, believed to be the tree growth rate

E. Among the surest indications on Earth of sunspot cycles is believed to be the rate at which trees 

grow

Answer: 

27-36

In April 1997, Hillary Rodham Clinton hosted an all-day White House scientific conference on new 

findings that indicates a child’s acquiring language, thinking, and emotional skills as an active process 

that may be largely completed before age three.

A. that indicates a child’s acquiring language, thinking, and emotional skills as

B. that are indicative of a child acquiring language, thinking, and emotional skills as

C. to indicate that when a child acquires language, thinking, and emotional skills, that it is

D. indicating that a child’s acquisition of language, thinking, and emotional skills is

E. indicative of a child’s acquisition of language, thinking, and emotional skills as

Answer: 

智课⺴⽹网（SmartStudy.com）唐瑭GMAT语法电⼦子讲义

! TOEFL,SAT,IELTS,GRE,GMAT五⼤大出国考试各科⾸首席讲师⻬齐聚智课⺴⽹网（SmartStudy.com）! 37

http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com


57-39

When working with overseas clients, an understanding of cultural norms is at least as important as 

grasping the pivotal business issues for the global manager.

A. When working with overseas clients, an understanding of cultural norms is at least as important 

as grasping the pivotal business issues for the global manager.

B. When they work with overseas clients, understanding cultural norms is at least of equal 

importance to the global manager as grasping the pivotal business issues.

C. For global managers working with overseas clients, understanding cultural norms is at least as 

important as grasping the pivotal business issues.

D. For global managers working with overseas clients, an understanding of cultural norms is at least 

as important to them as that they grasp the pivotal business issues.

E. Global managers working with overseas clients find an understanding of cultural norms to be 

equally important as grasping the pivotal business issues.

Answer: 

63-6

The population of India has been steadily increasing for decades, and it will probably have what is 

estimated as 1.6 billion people by 2050 and surpass China as the world’s most populous nation.

A. it will probably have what is estimated as

B. they are likely to have

C. the country will probably have

D. there will probably be 

E. there will be an estimated

Answer:

80-29

As Charles Darwin observed, natural selection operates whenever individuals of one genetic 

composition are better at reproducing than that of others.

A. that of others

B. the other

C. another

D. those of another

E. that of the next

Answer: 
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2.挑选选项的思路

39-11

Retailers reported moderate gains in their November sales, as much because of their sales of a 

year earlier being so bad as that shoppers were getting a head start on buying their holiday gifts.

A. of their sales of a year earlier being so bad as that

B. of their sales a year earlier having been as bad as because

C. of their sales a year earlier being as bad as because

D. their sales a year earlier had been so bad as because

E. their sales of a year earlier were as bad as that

Answer: 

81-31

Under high pressure and intense heat, graphite, the most stable form of pure carbon, changes into 

the substance commonly referred to as diamond and remaining this way whether or not the heat 

and pressure are removed.

A. remaining this way whether or not

B. remaining like that even as

C. remaining as such whether or not

D. remains in this way although

E. remains thus even when

Answer: 

68-14

The themes that Rita Dove explores in her poetry is universal, encompassing much of the human 

condition while occasionally she deals with racial issues.

A. is universal, encompassing much of the human condition while occasionally she deals

B. is universal, encompassing much of the human condition, also occasionally it deals

C. are universal, they encompass much of the human condition and occasionally deals

D. are universal, encompassing much of the human condition while occasionally dealing

E. are universal, they encompass much of the human condition, also occasionally are dealing

Answer: 

110-31
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Unlike the original National Museum of Science and Technology in Italy, where the models are 

encased in glass or operated only by staff members, the Virtual Leonardo Project, an online version 

of the museum, encourages visitors to “touch” each exhibit, which thereby activates the animated 

functions of the piece.

A. exhibit, which thereby activates

B. exhibit, in turn an activation of

C. exhibit, and it will activate

D. exhibit and thereby activate

E. exhibit which, as a result, activates

Answer: 
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Lecture Eight
阅读句⼦子的能⼒力 2

本节课授课要点
• 传统的阅读⽅方法怎么了？

• 什么是真正的阅读能⼒力

• 训练正确的阅读能⼒力

1.传统的阅读⽅方法怎么了？
The airline industry is cutting its lowest discount fares more widely, more substantially, and earlier 

this year than it normally does at the end of the summer, a time when travel usually decreases and 

the industry uses some lower fares to attract passengers.

The airline industry （主语）is cutting （谓语动词）its lowest discount fares （宾语）more 

widely, more substantially, and earlier this year （⽐比较级more…than…结构）than （连词than引
导的⼀一个并列句）it normally does at the end of the summer, a time when （when引导的时间状
语从句）travel usually decreases and the industry uses some lower fares to attract passengers.

• 问题⼀一：你读中⽂文句⼦子的时候也分析语法结构吗？

-差别⼀一：

• 问题⼆二：按照句⼦子结构分别理解各部分意思，这样做理解⼀一个句⼦子⾄至少要两遍。你读
中⽂文句⼦子也要读两遍吗？

-差别⼆二：

• 问题三：每个单词都是按照背诵时的原意翻译的，但是你不觉得翻译出来的意思有点
别扭吗？ 

-差别三：
✓

2.什么是真正的阅读能⼒力

3.训练正确的阅读能⼒力
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• 单词的理解
We do a mile in four minutes. 

This room will do us very nicely. 

This coat will do for another season. 

The airline industry is cutting its lowest discount fares more widely, more substantially, and earlier 

this year than it normally does at the end of the summer, a time when travel usually decreases and 

the industry uses some lower fares to attract passengers.

Retailers reported moderate gains in their November sales, as much because their sales a year 

earlier had been so bad as because shoppers were getting a head start on buying their holiday gifts.

• 断点
Do you remember all those years when scientists argued that smoking would kill us but the 

doubters insisted that we didn’t know for sure？

• 接受英⽂文的语序习惯
What is harder to establish is whether the productivity revolution that businessmen assume they 

are presiding over is for real.
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Lecture Nine
OG语法题讲解－阅读能⼒力练习

本节课授课要点
• 阅读能⼒力练习

1.阅读能⼒力练习
1) In a review of 2,000 studies of human behavior that date back to the 1940s, two Swiss 

psychologists, declaring that since most of the studies had failed to control for such variables as 

social class and family size, none could be taken seriously.

(A) psychologists, declaring that since most of the studies had failed to control for such variables as 

social class and family size,

(B) psychologists, declaring that most of the studies failed in not controlling for such variables like 

social class and family size, and

(C) psychologists declared that since most of the studies, having failed to control for such variables 

as social class and family size,

(D) psychologists declared that since most of the studies fail in controlling for such variables like 

social class and family size,

(E) psychologists declared that since most of the studies had failed to control for variables such as 

social class and family size,

2) Manufacturers rate batteries in watt-hours; if they rate the watt-hour higher, the longer the 

battery can be expected to last.

(A) if they rate the watt-hour higher, the longer

(B) rating the watt-hour higher, it is that much longer

(C) the higher the watt-hour rating, the longer

(D) the higher the watt-hour rating, it is that much longer that

(E) when the watt-hour rating is higher, the longer it is

3) Although a surge in retail sales have raised hopes that there is a recovery finally under way, many 

economists say that without a large amount of spending the recovery might not last.

(A) have raised hopes that there is a recovery finally

(B) raised hopes for there being a recovery finally
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(C) had raised hopes for a recovery finally being

(D) has raised hopes that a recovery is finally

(E) raised hopes for a recovery finally

4) At the end of the 1930s, Duke Ellington was looking for a composer to assist him—someone 

not only who could arrange music for his successful big band, but mirroring his eccentric writing 

style as well in order to finish the many pieces he had started but never completed.

(A) someone not only who could arrange music for his successful big band, but mirroring his 

eccentric writing style as well in order to finish

(B) someone who could not only arrange music for his successful big band, but also mirror his 

eccentric writing style in order to finish

(C) someone who not only could arrange music for his successful big band, but also to mirror his 

eccentric writing style in finishing

(D) that being someone who could not only arrange music for his successful big band, but 

mirroring his eccentric writing style for finishing

(E) being someone not only who could arrange music for his successful big band, but mirror his 

eccentric writing style as well, finishing

5) Of all the vast tides of migration that have swept through history, maybe none is more 

concentrated as the wave that brought 12 million immigrants onto American shores in little more 

than three decades.

(A) maybe none is more concentrated as

(B) it may be that none is more concentrated as

(C) perhaps it is none that is more concentrated than

(D) maybe it is none that was more concentrated than

(E) perhaps none was more concentrated than

6) Diabetes, together with its serious complications, ranks as the nation's third leading cause of 

death, surpassed only by heart disease and cancer.

(A) ranks as the nation's third leading cause of death, surpassed only

(B) rank as the nation's third leading cause of death, only surpassed

(C) has the rank of the nation's third leading cause of death, only surpassed

(D) are the nation's third leading causes of death, surpassed only

(E) have been ranked as the nation's third leading causes of death, only surpassed
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7) The intricate structure of the compound insect eye, having hundreds of miniature eyes called 

ommatidia. help explain why scientists have assumed that it evolved independently of the 

vertebrate eye.

(A) having hundreds of miniature eyes called ommatidia, help explain why scientists have assumed 

that it

(B) having hundreds of miniature eyes that are called ommatidia, helps explain why scientists have 

assumed that they

(C) with its hundreds of miniature eyes that are called ommatidia, helps explain scientists' assuming 

that they

(D) with its hundreds of miniature eyes called ommatidia, help explain scientists' assuming that it

(E) with its hundreds of miniature eyes called ommatidia, helps explain why scientists have assumed 

that it

8) In late 1997, the chambers inside the pyramid of the Pharaoh Menkaure at Giza were closed to 

visitors for cleaning and repair due to moisture exhaled by tourists, which raised its humidity to 

such levels so that salt from the stone was crystallizing and fungus was growing on the walls.

(A) due to moisture exhaled by tourists, which raised its humidity to such levels so that salt from 

the stone was crystallizing

(B) due to moisture that tourists had exhaled, thereby raising its humidity to such levels that salt 

from the stone would crystallize

(C) because tourists were exhaling moisture, which had raised the humidity within them to levels 

such that salt from the stone would crystallize

(D) because of moisture that was exhaled by tourists raising the humidity within them to levels so 

high as to make the salt from the stone crystallize

(E) because moisture exhaled by tourists had raised the humidity within them to such levels that 

salt from the stone was crystallizing

9) In 1979 lack of rain reduced India's rice production to about 41 million tons, nearly 25 percent 

less than those of the 1978 harvest.

(A) less than those of the 1978 harvest

(B) less than the 1978 harvest

(C) less than 1978

(D) fewer than 1978

(E) fewer than that of India's 1978 harvest
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10) The widely accepted big bang theory holds that the universe began in an explosive instant ten 

to twenty billion years ago and has been expanding ever since.

(A) that the universe began in an explosive instant ten to twenty billion years ago and has been 

expanding

(B) that the universe had begun in an explosive instant ten to twenty billion years ago and had 

been expanding

(C) that the beginning of the universe was an explosive instant ten to twenty billion years ago that 

has expanded

(D) the beginning of the universe to have been an explosive instant ten to twenty billion years ago 

that is expanding

(E) the universe to have begun in an explosive instant ten to twenty billion years ago and has been 

expanding

11) Like the idolization accorded the Brontes and Brownines, James Joyce and Virginia Woolf are 

often subjected to the kind of veneration that blurs the distinction between the artist and the 

human being.

(A) Like the idolization accorded the Brontes and Brownings,

(B) As the Brontes' and Brownings' idolization,

(C) Like that accorded to the Brontes and Brownings,

(D) As it is of the Brontes and Brownings,

(E) Like the Brontes and Brownings,

12) Carnivorous mammals can endure what would otherwise be lethal levels of body heat because 

they have a heat-exchange network which kept the brain from getting too hot.

(A) which kept

(B) that keeps

(C) which has kept

(D) that has been keeping

(E) having kept

13) There are several ways to build solid walls using just mud or clay, but the most extensively used 

method has been the forming of bricks out of mud or clay. and, after some preliminary air drying 

or sun drying. they are laid in the wall in mud mortar.

(A) the forming of bricks out of mud or clay, and, after some preliminary air drying or sun drying, 

they are laid
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(B) forming the mud or clay into bricks, and, after some preliminary air drying or sun drying, to lay 

them

(C) having bricks formed from mud or clay, and, after some preliminary air drying or sun drying, 

they were laid

(D) to form the mud or clay into bricks, and, after some preliminary air drying or sun drying, to lay 

them

(E) that bricks were formed from mud or clay, which, after some preliminary air drying or sun 

drying, were laid

14) Rising inventories, when unaccompanied correspondingly by increases in sales, can lead to 

production cutbacks that would hamper economic growth.

(A) when unaccompanied correspondingly by increases in sales, can lead

(B) when not accompanied by corresponding increases in sales, possibly leads

(C) when they were unaccompanied by corresponding sales increases, can lead

(D) if not accompanied by correspondingly increased sales, possibly leads

(E) if not accompanied by corresponding increases in sales, can lead

15) Many experts regarded the large increase in credit card borrowing in March not as a sign that 

households were pressed for cash and forced to borrow, rather a sign of confidence by households 

that they could safely handle new debt.

(A) rather a sign of confidence by households that they could safely

(B) yet as a sign of households' confidence that it was safe for them to

(C) but a sign of confidence by households that they could safely

(D) but as a sign that households were confident they could safely

(E) but also as a sign that households were confident in their ability safely to

16) A surge in new home sales and a drop in weekly unemployment claims suggest that the 

economy might not be as weak as some analysts previously thought.

(A) claims suggest that the economy might not be as weak as some analysts previously thought

(B) claims suggests that the economy might not be so weak as some analysts have previously 

thought

(C) claims suggest that the economy might not be as weak as have been previously thought by 

some analysts

(D) claims, suggesting about the economy that it might not be so weak as previously thought by 

some analysts
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(E) claims, suggesting the economy might not be as weak as previously thought to be by some 

analysts

17) Sunspots, vortices of gas associated with strong electromagnetic activity, are visible as dark 

spots on the surface of the Sun but have never been sighted on the Sun's poles or equator.

(A) are visible as dark spots on the surface of the Sun but have never been sighted on

(B) are visible as dark spots that never have been sighted on the surface of the Sun

(C) appear on the surface of the Sun as dark spots although never sighted at

(D) appear as dark spots on the surface of the Sun, although never having been sighted at

(E) appear as dark spots on the Sun's surface, which have never been sighted on

18) Warning that computers in the United States are not secure, the National Academy of Sciences 

has urged the nation to revamp computer security procedures, institute new emergency response 

teams, creating a special nongovernment organization to take charge of computer security 

planning.

(A) creating a special nongovernment organization to take

(B) creating a special nongovernment organization that takes

(C) creating a special nongovernment organization for taking

(D) and create a special nongovernment organization for taking

(E) and create a special nongovernment organization to take

19. A pioneer journalist. Nellie Bly's exploits included circling the globe faster than Jules Verne's 

fictional Phileas Fogg.

(A) A pioneer journalist, Nellie Bly's exploits included

(B) The exploits of Nellie Bly, a pioneer journalist, included

(C) Nellie Bly was a pioneer journalist including in her exploits the

(D) Included in the pioneer journalist Nellie Bly's exploits are

(E) The pioneer journalist's exploits of Nellie Bly Included

20) Retail sales rose 0.8 of 1 percent in August, intensifying expectations that personal spending in 

the July-September quarter more than doubled that of the 1.4 percent growth rate in personal 

spending for the previous quarter.

(A) that personal spending in the July-September quarter more than doubled that of

(B) that personal spending in the July-September quarter would more than double

(C) of personal spending in the July-September quarter, that it more than doubled
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(D) of personal spending in the July-September quarter more than doubling that of

(E) of personal spending in the July-September quarter, that it would more than double that of
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Lecture Ten
OG语法题讲解2－看懂题⺫⽬目及问题中的暗⽰示

本节课授课要点
• 看懂题⺫⽬目及问题中的暗⽰示

1.看懂题⺫⽬目及问题中的暗⽰示
21) The commission has directed advertisers to restrict the use of the word "natural" to foods that 

do not contain color or flavor additives, chemical preservatives, or nothing that has been 

synthesized.

(A) or nothing that has been

(B) or that has been

(C) and nothing that is

(D) or anything that has been

(E) and anything

22) Plants are more efficient at acquiring carbon than are fungi, in the form of carbon dioxide, and 

converting it to energy-rich sugars.

(A) Plants are more efficient at acquiring carbon than are fungi,

(B) Plants are more efficient at acquiring carbon than fungi,

(C) Plants are more efficient than fungi at acquiring carbon,

(D) Plants, more efficient than fungi at acquiring carbon,

(E) Plants acquire carbon more efficiently than fungi,

23) The Iroquois were primarily planters, but supplementing their cultivation of maize, squash, and 

beans with fishing and hunting.

(A) but supplementing

(B) and had supplemented

(C) and even though they supplemented

(D) although they supplemented

(E) but with supplementing
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24) As contrasted with the honeybee, the yellow jacket can sting repeatedly without dying and 

carries a potent venom that can cause intense pain.

(A) As contrasted with the honeybee,

(B) In contrast to the honeybee's,

(C) Unlike the sting of the honeybee,

(D) Unlike that of the honeybee,

(E) Unlike the honeybee,

25) Neuroscientists. having amassed a wealth of knowledge over the past twenty years about the 

brain and its development from birth to adulthood, are now drawing solid conclusions about how 

the human brain grows and how babies acquire language.

(A) Neuroscientists, having amassed a wealth of knowledge over the past twenty years about the 

brain and its development from birth to  adulthood, are

(B) Neuroscientists, having amassed a wealth of knowledge about the brain and its development 

from birth to adulthood over the past twenty years, and are

(C) Neuroscientists amassing a wealth of knowledge about the brain and its development from 

birth to adulthood over the past twenty years, and are

(D) Neuroscientists have amassed a wealth of knowledge over the past twenty years about the 

brain and its development from birth to adulthood,

(E) Neuroscientists have amassed, over the past twenty years, a wealth of knowledge about the 

brain and its development from birth to adulthood,

26) Tropical bats play important roles in the rain forest ecosystem, aiding in the dispersal of 

cashew, date, and fig seeds; pollinating banana, breadfruit, and mango trees: and indirectly help 

produce tequila by pollinating agave plants.

(A) pollinating banana, breadfruit, and mango trees; and indirectly help produce

(B) pollinating banana, breadfruit, and mango trees; and indirectly helping to produce

(C) pollinating banana, breadfruit, and mango trees; and they indirectly help to produce

(D) they pollinate banana, breadfruit, and mango trees; and indirectly help producing

(E) they pollinate banana, breadfruit, and mango trees; indirectly helping the producing of

27) None of the attempts to specify the causes of crime explains why most of the people exposed 

to the alleged causes do not commit crimes and, conversely, why so many of those not so exposed 

have.

(A) have
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(B) has

(C) shall

(D) do

(E) could

28) In virtually all types of tissue in every animal species, dioxin induces the production of enzymes 

that are the organism's trying to metabolize, or render harmless, the chemical that is irritating it.

(A) trying to metabolize, or render harmless, the chemical that is irritating it

(B) trying that it metabolize, or render harmless, the chemical irritant

(C) attempt to try to metabolize, or render harmless, such a chemical irritant

(D) attempt to try and metabolize, or render harmless, the chemical irritating it

(E) attempt to metabolize, or render harmless, the chemical irritant

29) Emily Dickinson's letters to Susan Huntington Dickinson were written over a period beginning 

a few years before Susan's marriage to Emily's brother and ending shortly before Emily's death in 

1886. outnumbering her letters to anyone else.

(A) Dickinson were written over a period beginning a few years before Susan's marriage to Emily's 

brother and ending shortly before Emily's death in 1886, outnumbering

(B) Dickinson were written over a period that begins a few years before Susan's marriage to 

Emily's brother and ended shortly before Emily's death in 1886, outnumber

(C) Dickinson, written over a period beginning a few years before Susan's marriage to Emily's 

brother and that ends shortly before Emily's death in 1886 and outnumbering

(D) Dickinson, which were written over a period beginning a few years before Susan's marriage to 

Emily's brother, ending shortly before Emily's death in 1886, and outnumbering

(E) Dickinson, which were written over a period beginning a few years before Susan's marriage to 

Emily's brother and ending shortly before Emily's death in 1886, outnumber

30) Paleontologists believe that fragments of a primate jawbone unearthed in Burma and estimated 

at 40 to 44 million years old provide evidence of a crucial step along the evolutionary path that led 

to human beings.

(A) at 40 to 44 million years old provide evidence of

(B) as being 40 to 44 million years old provides evidence of

(C) that it is 40 to 44 million years old provides evidence of what was

(D) to be 40 to 44 million years old provide evidence of

(E) as 40 to 44 million years old provides evidence
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31) Unlike the conviction held by many of her colleagues that genes were relatively simple and 

static, Barbara McClintock adhered to her own more complicated ideas about how genes might 

operate, and in 1983, at the age of 81, was awarded a Nobel Prize for her discovery that the genes 

in corn are capable of moving from one chromosomal site to another.

(A) Unlike the conviction held by many of her colleagues that genes were

(B) Although many of her colleagues were of the conviction of genes being

(C) Contrary to many of her colleagues being convinced that genes were

(D) Even though many of her colleagues were convinced that genes were

(E) Even with many of her colleagues convinced of genes being

32) Galileo was convinced that natural phenomena, as manifestations of the laws of physics, would 

appear the same to someone on the deck of a ship moving smoothly and uniformly through the 

water as a person standing on land.

(A) water as a

(B) water as to a

(C) water; just as it would to a

(D) water, as it would to the

(E) water; just as to the

33) Because an oversupply of computer chips has sent prices plunging, the manufacturer has 

announced that it will cut production by closing its factories for two days a month.

(A) Because an oversupply of computer chips has sent prices plunging,

(B) Because of plunging prices for computer chips, which is due to an oversupply,

(C) Because computer chip prices have been sent plunging, which resulted from an oversupply,

(D) Due to plunging computer chip prices from an oversupply,

(E) Due to an oversupply, with the result that computer chip prices have been sent plunging,

34) Beyond the immediate cash flow crisis that the museum faces, its survival depends on if it can 

broaden its membership and leave its cramped quarters for a site where it can store and exhibit its 

more than 12,000 artifacts.

(A) if it can broaden its membership and leave

(B) whether it can broaden its membership and leave

(C) whether or not it has the capability to broaden its membership and can leave

(D) its ability for broadening its membership and leaving
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(E) the ability for it to broaden its membership and leave

35) By 1940, the pilot Jacqueline Cochran held seventeen official national and international speed 

records, and she earned them at a time when aviation was still so new for many of the planes she 

flew to be of dangerously experimental design.

(A) and she earned them at a time when aviation was still so new for many of the planes she flew 

to be

(B) earning them at a time that aviation was still so new for many of the planes she flew to be

(C) earning these at a time where aviation was still so new that many of the planes she flew were

(D) earned at a time in which aviation was still so new such that many of the planes she flew were

(E) earned at a time when aviation was still so new that many of the planes she flew were

36) Along with the drop in producer prices announced yesterday, the strong retail sales figures 

released today seem like it is indicative that the economy, although growing slowly, is not nearing a 

recession.

(A) like it is indicative that

(B) as if to indicate

(C) to indicate that

(D) indicative of

(E) like an indication of

37) Dressed as a man and using the name Robert Shurtleff, Deborah Sampson, the first woman to 

draw a soldier's pension, joined the Continental Army in 1782 at the age of 22. was injured three 

times, and was discharged in 1783 because she had become too ill to serve.

(A) 22, was injured three times, and was discharged in 1783 because she had become

(B) 22, was injured three times, while being discharged in 1783 because she had become

(C) 22 and was injured three times, and discharged in 1783, being

(D) 22, injured three times, and was discharged in 1783 because she was

(E) 22. having been injured three times and discharged in 1783, being

38) Bengal-born writer, philosopher, and educator Rabindranath Tagore had the greatest admiration 

for. Mohandas K. Gandhi the person and also as a politician, but Tagore had been skeptical of 

Gandhi's form of nationalism and his conservative opinions about India's cultural traditions.

(A) for Mohandas K. Gandhi the person and also as a politician, but Tagore had been

(B) for Mohandas K. Gandhi as a person and as a politician, but Tagore was also
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(C) for Mohandas K. Gandhi not only as a person and as a politician, but Tagore was also

(D) of Mohandas K. Gandhi as a person and as also a politician, but Tagore was

(E) of Mohandas K. Gandhi not only as a person and as a politician, but Tagore had also been

39) Although schistosomiasis is not often fatal, it is so debilitating that it has become an economic 

drain on many developing countries.

(A) it is so debilitating that it has become an economic

(B) it is of such debilitation, it has become an economical

(C) so debilitating is it as to become an economic

(D) such is its debilitation, it becomes an economical

(E) there is so much debilitation that it has become an economical

40) The Organization of Petroleum Exporting Countries (OPEC) had long been expected to 

announce a reduction in output to bolster sagging oil prices, but officials of the organization just 

recently announced that the group will pare daily production by 1.5 million barrels by the 

beginning of next year, but only if non- OPEC nations, including Norway. Mexico, and Russia, were 

to trim output by a total of 500,000 barrels a day.

(A) year, but only if non-OPEC nations, including Norway, Mexico, and Russia, were to trim output

(B) year, but only if the output of non-OPEC nations, which includes Norway, Mexico, and Russia, is 

trimmed

(C) year only if the output of non-OPEC nations, including Norway, Mexico, and Russia, would be 

trimmed

(D) year only if non-OPEC nations, which includes Norway, Mexico, and Russia, were trimming 

output

(E) year only if non-OPEC nations, including Norway, Mexico, and Russia, trim output
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Lecture Eleven
OG语法题讲解－选项对⽐比能⼒力

本节课授课要点
• 选项对⽐比能⼒力

1.选项对⽐比能⼒力
41) In 1850, Lucretia Mott published her Discourse on Women, arguing in a treatise for women to 

have equal political and legal rights and for changes in the married women's property laws.

(A) arguing in a treatise for women to have equal political and legal rights

(B) arguing in a treatise for equal political and legal rights for women

(C) a treatise that advocates women's equal political and legal rights

(D) a treatise advocating women's equal political and legal rights

(E) a treatise that argued for equal political and legal rights for women

42) To develop more accurate population forecasts, demographers have to know a great deal more 

than now about the social and economic determinants of fertility.

(A) have to know a great deal more than now about the social and economic

(B) have to know a great deal more than they do now about the social and economical

(C) would have to know a great deal more than they do now about the social and economical

(D) would have to know a great deal more than they do now about the social and economic

(E) would have to know a great deal more than now about the social and economic

43) Laos has a land area about the same as Great Britain but only four million in population. Where 

many are members of hill tribes ensconced in the virtually inaccessible mountain valleys of the 

north.

(A) about the same as Great Britain but only four million in population, where many

(B) of about the same size as Great Britain is, but in Laos there is a population of only four million, 

and many 

(C) that is about the same size as Great Britain's land area, but in Laos with a population of only 

four million people, many of them

(D) comparable to the size of Great Britain, but only four million in population, and many
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(E) comparable to that of Great Britain but a population of only four million people, many of 

whom

44) The plot of The Bostonians centers on the rivalry between Olive Chancellor, an active feminist, 

with her charming and cynical cousin. Basil Ransom, when they find themselves drawn to the same 

radiant young woman whose talent for public speaking has won her an ardent following.

(A) rivalry between Olive Chancellor, an active feminist, with her charming and cynical cousin,Basil 

Ransom,

(B) rivals Olive Chancellor, an active feminist, against her charming and cynical cousin, Basil 

Ransom,

(C) rivalry that develops between Olive Chancellor, an active feminist, and Basil Ransom, her 

charming and cynical cousin,

(D) developing rivalry between Olive Chancellor, an active feminist, with Basil Ransom, her 

charming and cynical cousin,

(E) active feminist, Olive Chancellor, and the rivalry with her charming and cynical cousin Basil 

Ransom,

45) Quasars, at billions of light-years from Earth the most distant observable objects in the 

universe, believed to be the cores of galaxies in an early stage of development.

(A) believed to be

(B) are believed to be

(C) some believe them to be

(D) some believe they are

(E) it is believed that they are

46) In ancient Thailand, much of the local artisans' creative energy was expended for the creation 

of Buddha images and when they constructed and decorated the temples that enshrined them.

(A) much of the local artisans' creative energy was expended for the creation of Buddha images 

and when they constructed and decorated the temples that enshrined them

(B) much of the local artisans' creative energy was expended on the creation of Buddha images and 

on construction and decoration of the temples in which they were enshrined

(C) much of the local artisans' creative energy was expended on the creation of Buddha images as 

well as constructing and decoration of the temples in which they were enshrined

(D) creating images of Buddha accounted for much of the local artisans' creative energy, and also 

constructing and decorating the temples enshrining them
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(E) the creation of Buddha images accounted for much of the local artisans' creative energy as well 

as construction and decoration of the temples that enshrined them

47) In 1713, Alexander Pope began his translation of the Iliad, a work that, taking him seven years 

until completion, and that literary critic Samuel Johnson. Pope's contemporary, pronounced the 

greatest  translation in any language.

(A) his translation of the Iliad, a work that, taking him seven years until completion, and that 

literary critic Samuel Johnson, Pope's contemporary, pronounced

(B) his translation of the Iliad, a work that took him seven years to complete and that literary critic 

Samuel Johnson, Pope's contemporary, pronounced

(C) his translation of the Iliad, a work that had taken seven years to complete and that literary 

critic Samuel Johnson, Pope's contemporary, pronounced it as

(D) translating the Iliad, a work that took seven years until completion and that literary critic 

Samuel Johnson, Pope's contemporary, pronounced it as

(E) translating the Iliad, a work that had taken seven years to complete and literary critic Samuel 

Johnson, Pope's contemporary, pronounced it

48) It is called a sea, but the landlocked Caspian is actually the largest lake on Earth, which covers 

more than four times the surface area of its closest rival in size, North America's Lake Superior.

(A) It is called a sea, but the landlocked Caspian is actually the largest lake on Earth, which covers

(B) Although it is called a sea, actually the landlocked Caspian is the largest lake on Earth, which 

covers

(C) Though called a sea, the landlocked Caspian is actually the largest lake on Earth, covering

(D) Though called a sea but it actually is the largest lake on Earth, the landlocked Caspian covers

(E) Despite being called a sea, the largest lake on Earth is actually the landlocked Caspian, covering

49) The automotive conveyor-belt system, which Henry Ford modeled after an assembly-line 

technique introduced by Ransom Olds, reduced from a day and a half to 93 minutes the required 

time of assembling a Model T.

(A) from a day and a half to 93 minutes the required time of assembling a Model T

(B) the time being required to assemble a Model T, from a day and a half down to 93 minutes

(C) the time being required to assemble a Model T, a day and a half to 93 minutes

(D) the time required to assemble a Model T from a day and a half to 93 minutes

(E) from a day and a half to 93 minutes, the time required for the assembling of a Model T
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50) According to some analysts, the gains in the stock market reflect growing confidence that the 

economy will avoid the recession that many had feared earlier in the year and instead come in for 

a "soft landing," followed by a gradual increase in business activity.

(A) that the economy will avoid the recession that many had feared earlier in the year and instead 

come

(B) in the economy to avoid the recession, what many feared earlier in the year, rather to come

(C) in the economy's ability to avoid the recession, something earlier in the year many had feared, 

and instead to come

(D) in the economy to avoid the recession many were fearing earlier in the year, and rather to 

come

(E) that the economy will avoid the recession that was feared earlier this year by many, with it 

instead coming

51) A new study suggests that the conversational pace of everyday life may be so brisk it hampers 

the ability of some children for distinguishing discrete sounds and words and, the result is. to make 

sense of speech.

(A)	

 it hampers the ability of some children for distinguishing discrete sounds and words and, 

the result is, to make

(B)	

 that it hampers the ability of some children to distinguish discrete sounds and words and, as 

a result, to make

(C)	

 that it hampers the ability of some children to distinguish discrete sounds and words and, 

the result of this, they are unable to make

(D)	

 that it hampers the ability of some children to distinguish discrete sounds and words, and 

results in not making

(E)	

 as to hamper the ability of some children for distinguishing discrete sounds and words, 

resulting in being unable to make

52) To Josephine Baker. Paris was her home long before it was fashionable to be an expatriate, and 

she remained in France during the Second World War as a performer and an intelligence agent for 

the Resistance.

(A) To Josephine Baker, Paris was her home long before it was fashionable to be an expatriate,

(B) For Josephine Baker, long before it was fashionable to be an expatriate, Paris was her home,

(C) Josephine Baker made Paris her home long before to be an expatriate was fashionable,

(D) Long before it was fashionable to be an expatriate, Josephine Baker made Paris her home,

(E) Long before it was fashionable being an expatriate, Paris was home to Josephine Baker,
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53) The nineteenth-century chemist Humphry Davy presented the results of his early experiments 

in his "Essay on Heat and Light," a critique of all Chemistry since Robert Boyle as well as a vision 

of a new chemistry that Davy hoped to found.

(A) a critique of all chemistry since Robert Boyle as well as a vision of a

(B) a critique of all chemistry following Robert Boyle and also his envisioning of a

(C) a critique of all chemistry after Robert Boyle and envisioning as well

(D) critiquing all chemistry from Robert Boyle forward and also a vision of

(E) critiquing all the chemistry done since Robert Boyle as well as his own envisioning of

54) The report recommended that the hospital should eliminate unneeded beds, expensive 

services should be consolidated, and use space in other hospitals.

(A) should eliminate unneeded beds, expensive services should be consolidated, and use space in 

other hospitals

(B) should eliminate unneeded beds, expensive services should be consolidated, and other 

hospitals' space be used

(C) should eliminate unneeded beds, expensive services should be consolidated, and to use space 

in other hospitals

(D) eliminate unneeded beds, consolidate expensive services, and other hospitals' space used

(E) eliminate unneeded beds, consolidate expensive services, and use space in other hospitals

55) Many house builders offer rent-to-buy programs that enable a family with insufficient savings 

for a conventional down payment to be able to move into new housing and to apply part of the 

rent to a purchase later.

(A) programs that enable a family with insufficient savings for a conventional down payment to be 

able to move into new housing and to apply

(B) programs that enable a family with insufficient savings for a conventional down payment to 

move into new housing and to apply

(C) programs; that enables a family with insufficient savings for a conventional down payment to 

move into new housing, to apply

(D) programs, which enables a family with insufficient savings for a conventional down payment to 

move into new housing, applying

(E) programs, which enable a family with insufficient savings for a conventional down payment to be 

able to move Into new housing, applying
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56) Elizabeth Barber, the author of both Prehistoric Textiles, a comprehensive work on cloth in the 

early cultures of the Mediterranean, and also of Women's Work, a more general account of early 

cloth manufacture, is an expert authority on textiles in ancient societies.

(A) also of Women's Work, a more general account of early cloth manufacture, is an expert 

authority on

(B) also Women's Work, a more general account of cloth manufacture, is an expert authority about

(C) of Women's Work, a more general account about early cloth manufacture, is an authority on

(D) of Women's Work, a more general account about early cloth manufacture, is an expert 

authority about

(E) Women's Work, a more general account of early cloth manufacture, is an authority on

57) Many of the earliest known images of Hindu deities in India date from the time of the Kushan 

Empire. fashioned either from the spotted sandstone of Mathura or Gandharan grey schist.

(A) Empire, fashioned either from the spotted sandstone of Mathura or

(B) Empire, fashioned from either the spotted sandstone of Mathura or from

(C) Empire, either fashioned from the spotted sandstone of Mathura or

(D) Empire and either fashioned from the spotted sandstone of Mathura or from

(E) Empire and were fashioned either from the spotted sandstone of Mathura or from

58) That educators have not anticipated the impact of microcomputer technology can hardly be 

said that it is their fault: Alvin Toffler, one of the most prominent students of the future, did not 

even mention microcomputers in Future Shock, published in 1970.

(A) That educators have not anticipated the impact of microcomputer technology can hardly be 

said that it is their fault

(B) That educators have not anticipated the impact of microcomputer technology can hardly be 

said to be at fault

(C) It can hardly be said that it is the fault of educators who have not anticipated the impact of 

microcomputer technology

(D) It can hardly be said that educators are at fault for not anticipating the impact of 

microcomputer technology

(E) The fact that educators are at fault for not anticipating the impact of microcomputer 

technology can hardly be said

59.A leading figure in the Scottish Enlightenment, Adam Smith's two major books are to 

democratic capitalism what Marx's Das Kapital is to socialism.
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(A) Adam Smith's two major books are to democratic capitalism what

(B) Adam Smith's two major books are to democratic capitalism like

(C) Adam Smith's two major books are to democratic capitalism just as

(D) Adam Smith wrote two major books that are to democratic capitalism similar to

(E) Adam Smith wrote two major books that are to democratic capitalism what

60) The Olympic Games helped to keep peace among the pugnacious states of the Greek world in 

that a sacred truce was proclaimed during the festival's month.

(A) world in that a sacred truce was proclaimed during the festival's month

(B) world, proclaiming a sacred truce during the festival's month

(C) world when they proclaimed a sacred truce for the festival month

(D) world, for a sacred truce was proclaimed during the month of the festival

(E) world by proclamation of a sacred truce that was for the month of the festival
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Lecture Twelve
OG语法题讲解－表达⽅方式的判断

本节课授课要点
• 表达⽅方式的判断

• 练习⽅方法与复习计划

1.表达⽅方式的判断
61) While all states face similar industrial waste problems. the predominating industries and the 

regulatory environment of the states obviously determines the types and amounts of waste 

produced, as well as the cost of disposal.

(A) all states face similar industrial waste problems, the predominating industries and the 

regulatory environment of the states obviously determines

(B) each state faces a similar industrial waste problem, their predominant industries and regulatory 

environment obviously determine

(C) all states face a similar industrial waste problem; their predominating industries and regulatory 

environment obviously determines

(D) each state faces similar industrial waste problems, the predominant industries and the , 

regulatory environment of each state obviously determines

(E) all states face similar industrial waste problems, the predominant industries and the regulatory 

environment of each state obviously determine

62) Rivaling the pyramids of Egypt or even the ancient cities of the Maya as an achievement, the 

army of terra cotta warriors created to protect Qin Shi Huang. China's first emperor, in his 

afterlife is more than 2.000 years old and took 700.000 artisans more than 36 years to complete.

(A) the army of terra-cotta warriors created to protect Qin Shi Huang, China's first emperor, in his 

afterlife is more than 2,000 years old and took 700,000 artisans more than 36 years to complete

(B) Qin Shi Huang, China's first emperor, was protected in his afterlife by an army of terra-cotta 

warriors that was created more than 2,000 years ago by 700,000 artisans who took more than 36 

years to complete it

(C) it took 700,000 artisans more than 36 years to create bn army of terra-cotta warriors more 

than 2,000 years ago that would protect Qin Shi Huang, China's first emperor, in his afterlife
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(D) more than 2,000 years ago, 700,000 artisans worked more than 36 years to create an army of 

terra-cotta warriors to protect Qin Shi Huang, China's first emperor, in his afterlife

(E) more than 36 years were needed to complete the army of terra-cotta warriors that 700,000 

artisans created 2,000 years ago to protect Qin Shi Huang, China's first emperor, in his afterlife

63) When Congress reconvenes, some newly elected members from rural states will try and 

establish tighter restrictions for the amount of grain farmers are to be allowed to grow and to 

encourage more aggressive sales of United States farm products overseas.

(A) and establish tighter restrictions for the amount of grain farmers are to be allowed to grow 

and encouraging

(B) and establish tighter restrictions for the amount of grain farmers are to be allowed to grow 

and to encourage

(C) establishing tighter restrictions for the amount of grain farmers are allowed to grow and to 

encourage

(D) to establish tighter restrictions on the amount of grain capable of being grown by farmers and 

encouraging

(E) to establish tighter restrictions on the amount of grain farmers will be allowed to grow and to 

encourage

64) Doctors generally agree that such factors as cigarette smoking, eating rich foods high in fats, 

and alcohol consumption not only do damage by themselves but also aggravate genetic 

predispositions toward certain diseases.

(A) not only do damage by themselves but also aggravate

(B) do damage by themselves but also are aggravating to

(C) are damaging by themselves but also are aggravating

(D) not only do damage by themselves, they are also aggravating to

(E) are doing damage by themselves, and they are also aggravating

65) Digging in sediments in northern China, evidence has been gathered by scientists suggesting 

that complex life-forms emerged much earlier than they had previously thought.

(A) evidence has been gathered by scientists suggesting that complex life-forms emerged much 

earlier than they had

(B) evidence gathered by scientists suggests a much earlier emergence of complex life-forms than 

had been

智课⺴⽹网（SmartStudy.com）唐瑭GMAT语法电⼦子讲义

! TOEFL,SAT,IELTS,GRE,GMAT五⼤大出国考试各科⾸首席讲师⻬齐聚智课⺴⽹网（SmartStudy.com）! 64

http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com
http://www.smartstudy.com


(C) scientists have gathered evidence suggesting that complex life-forms emerged much earlier 

than

(D) scientists have gathered evidence that suggests a much earlier emergence of complex life-

forms than that which was

(E) scientists have gathered evidence which suggests a much earlier emergence of complex life-

forms than that

66) In a plan to stop the erosion of East Coast beaches, the Army Corps of Engineers proposed 

building parallel to shore a breakwater of rocks that would rise six feet above the waterline and 

act as a buffer, so that it absorbs the energy of crashing waves and protecting the beaches.

(A) act as a buffer, so that it absorbs

(B) act like a buffer so as to absorb

(C) act as a buffer, absorbing

(D) acting as a buffer, absorbing

(E) acting like a buffer, absorb

67) The 32 species that make up the dolphin family are closely related to whales and in fact include 

the animal known as the killer whale, which can grow to be 30 feet long and is famous for its 

aggressive hunting pods.

(A) include the animal known as the killer whale, which can grow to be 30 feet long and is (

(B) include the animal known as the killer whale, growing as big as 30 feet long and

(C) include the animal known as the killer whale, growing up to 30 feet long and being

(D) includes the animal known as the killer whale, which can grow as big as 30 feet long and is

(E) includes the animal known as the killer whale, which can grow to be 30 feet long and it is

68) Outlining his strategy for nursing the troubled conglomerate back to health, the chief 

executive's plans were announced on Wednesday for cutting the company's huge debt by selling 

nearly S12 billion in assets over the next 18 months.

(A) executive's plans were announced on Wednesday for cutting the company's huge debt by 

selling nearly $12 billion in assets over the next 18 months

(B) executive's plans, which are to cut the company's huge debt by selling nearly $12 billion in 

assets over the next 18 months, were announced on Wednesday

(C) executive's plans for cutting the company's huge debt by selling nearly $12 billion in assets over 

the next 18 months were announced on Wednesday
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(D) executive announced plans Wednesday to cut the company's huge debt by selling nearly $12 

billion in assets over the next 18 months

(E) executive announced plans Wednesday that are to cut the company's huge debt by selling 

nearly $12 billion in assets over the next 18 months

69) Affording strategic proximity to the Strait of Gibraltar, Morocco was also of interest to the 

French throughout the first half of the twentieth century because they assumed that if they did not 

hold it. their grip on Algeria was always insecure.

(A) if they did not hold it, their grip on Algeria was always insecure

(B) without it their grip on Algeria would never be secure

(C) their grip on Algeria was not ever secure if they did not hold it

(D) without that, they could never be secure about their grip on Algeria

(E) never would their grip on Algeria be secure if they did not hold it

70) The first trenches that were cut into a 500-acre site at Tell Hamoukar. Syria. have yielded strong 

evidence for centrally administered complex societies in northern regions of the Middle East that 

were arising simultaneously with but independently of the more celebrated city-states of southern 

Mesopotamia, in what is now southern Iraq.

(A) that were cut into a 500-acre site at Tell Hamoukar, Syria, have yielded strong evidence for 

centrally administered complex societies in northern regions of the Middle East that were arising 

simultaneously with but

(B) that were cut into a 500-acre site at Tell Hamoukar, Syria, yields strong evidence that centrally 

administered complex societies in northern regions of. the Middle East were arising simultaneously 

with but also

(C) having been cut into a 500-acre site at Tell Hamoukar, Syria, have yielded strong evidence that 

centrally administered complex societies in northern regions of the Middle East were arising 

simultaneously but

(D) cut into a 500-acre site at Tell Hamoukar, Syria, yields strong evidence of centrally administered 

complex societies in northern regions of the Middle East arising simultaneously but also

(E) cut into a 500-acre site at Tell Hamoukar, Syria, have yielded strong evidence that centrally 

administered complex societies in northern regions of the Middle East arose simultaneously with 

but
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71) Along the major rivers that traverse the deserts of northeast Africa, the Middle East, and 

northwest India, the combination of a reliable supply of water and good growing conditions both 

encouraged farming traditions that, in places, endure in at least 6,000 years.

(A) good growing conditions both encouraged farming traditions that, in places, endure in

(B) good growing conditions encouraged farming traditions that have, in places, endured for

(C) of good growing conditions have encouraged farming traditions that, in places, endured for

(D) of good growing conditions both encouraged farming traditions that have, in places, endured

(E) of good growing conditions encouraged farming traditions that have, in places, been enduring 

for

72) His studies of ice-polished rocks in his Alpine homeland, far outside the range of present-day 

glaciers, led Louis Agassiz in 1837 to propose the concept of an age in which great ice sheets had 

existed in now currently temperate areas.

(A) in which great ice sheets had existed in now currently temperate areas

(B) in which great ice sheets existed in what are now temperate areas

(C) when great ice sheets existed where there were areas now temperate

(D) when great ice sheets had existed in current temperate areas

(E) when great ice sheets existed in areas now that are temperate

73) Unlike the original National Museum of Science and Technology in Italy, where the models are 

encased in glass or operated only by staff members, the Virtual Leonardo Project, an online version 

of the museum, encourages visitors to "touch" each exhibit, which thereby activates the animated 

functions of the piece.

(A) exhibit, which thereby activates

(B) exhibit, in turn an activation of

(C) exhibit, and it will activate

(D) exhibit and thereby activate

(E) exhibit which, as a result, activates

74) Despite its covering the entire planet, Earth has a crust that is not seamless or stationary, 

rather it is fragmented into mobile semirigid plates.

(A) Despite its covering the entire planet, Earth has a crust that is not seamless or stationary, 

rather it is

(B) Despite the fact that it covers the entire planet, Earth's crust is neither seamless nor is it 

stationary, but is
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(C) Despite covering the entire planet, Earth's crust is neither seamless nor is it stationary, but 

rather

(D) Although it covers the entire planet, Earth's crust is neither seamless nor stationary, but rather

(E) Although covering the entire planet, Earth has a crust that is not seamless or stationary, but

75) More and more in recent years, cities are stressing the arts as a means to greater economic 

development and investing millions of dollars in cultural activities, despite strained municipal 

budgets and fading federal support.

(A) to greater economic development and investing

(B) to greater development economically and investing

(C) of greater economic development and invest

(D) of greater development economically and invest

(E) for greater economic development and the investment of

76.Combining enormous physical strength with higher intelligence, the Neanderthals appear as 

equipped for facing any obstacle the environment could put in their path, but their relatively 

sudden disappearance during the Paleolithic era indicates that an inability to adapt to some 

environmental change led to their extinction.

(A) appear as equipped for facing any obstacle the environment could put in their path,

(B) appear to have been equipped to face any obstacle the environment could put in their path,

(C) appear as equipped to face any obstacle the environment could put in their paths,

(D) appeared as equipped to face any obstacle the environment could put in their paths,

(E) appeared to have been equipped for facing any obstacle the environment could put in their 

path,

77) A1972 agreement between Canada and the United States reduced the amount of phosphates 

that municipalities had been allowed to dump into the Great Lakes.

(A) reduced the amount of phosphates that municipalities had been allowed to dump

(B) reduced the phosphate amount that municipalities had been dumping

(C) reduces the phosphate amount municipalities have been allowed to dump 

(D) reduced the amount of phosphates that municipalities are allowed to dump

(E) reduces the amount of phosphates allowed for dumping by municipalities
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78) A proposal has been made to trim the horns from rhinoceroses to discourage poachers; the 

question is whether tourists will continue to visit game parks and see rhinoceroses after their 

horns are trimmed.

(A) whether tourists will continue to visit game parks and see rhinoceroses after their horns are

(B) whether tourists will continue to visit game parks to see one once their horns are

(C) whether tourists will continue to visit game parks to see rhinoceroses once the animals horns 

have been

(D) if tourists will continue to visit game parks and see rhinoceroses once the animals' horns are

(E) if tourists will continue to visit game parks to see one after the animals' horns have been

79) Ryonosuke Akutagawa's knowledge of the literatures of Europe, China, and that of Japan were 

instrumental in his development as a writer, informing his literary style as much as the content of 

his fiction.

(A) that of Japan were instrumental in his development as a writer, informing his literary style as 

much as

(B) that of Japan was instrumental in his development as a writer, and it informed both his literary 

style as well as

(C) Japan was instrumental in his development as a writer, informing both his literary style and

(D) Japan was instrumental in his development as a writer, as it informed his literary style as much 

as

(E) Japan were instrumental in his development as a writer, informing both his literary style in 

addition to

80) The only way for growers to salvage frozen citrus is to process them quickly into juice 

concentrate before they rot when warmer weather returns.

(A) to process them quickly into juice concentrate before they rot when warmer weather returns

(B) if they are quickly processed into juice concentrate before warmer weather returns to rot 

them

(C) for them to be processed quickly into juice concentrate before the fruit rots when warmer 

weather returns

(D) if the fruit is quickly processed into juice concentrate before they rot when warmer weather 

returns

(E) to have it quickly processed into juice concentrate before warmer weather returns and rots 

the fruit
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2.练习⽅方法与复习计划
• 练习⽅方法
• 复习计划

-语法宗旨
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